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MATLAB  
   .  

syms t 

u(t) = heaviside(t); 

x(t)  = exp(-t) * u(t); 

y1(t)  = x(-t); 

y2(t) = x(1-t); 

subplot(311); ezplot(x(t));  

grid on; axis([-4 4 -0 1]);  

subplot(312); ezplot(y1(t));  

grid on; axis([-4 4 -0 1]); 

subplot(313); ezplot(y2(t));  

grid on; axis([-4 4 -0 1]); 

  

  

  

    

    

     
        

  
1.7.3   

      ,   :  

   (1.11)  

   .    

      ,   :  

      (1.12)  
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   (1.13)  

  

  

  
   MATLAB  

     
  

syms t 

a1 = 1/2; a2 = 2; 

x(t) = sin(2*pi*t); 

y1(t) = x(a1*t); 

y2(t) = x(a2*t); 

subplot(311); ezplot(x(t)) 

axis([-2 2 -1.5 1.5]); grid on;  

subplot(312); ezplot(y1(t)) 

axis([-2 2 -1.5 1.5]); grid on; 

subplot(313); ezplot(y2(t)) 

axis([-2 2 -1.5 1.5]); grid on;  

  

  

    

    

        

  

1.7.4      
     

o
  

   (1.14)  

   (1.15)  

     
  

  

   (1.16)  
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  1.10  

     

           
.  
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   MATLAB:  
syms t 

u(t) = heaviside(t); 

x1(t) = (2*t+2) *( u(t+1) - u(t) ); x2(t) = (2-t) * ( u(t) - u(t-2) ); x(t) = x1(t) + x2(t); 

y1(t) = x(-t);  y2(t) = x(t+1);  y3(t) = x(2*t);  y4(t) = x(t/2);  y5(t) = x(1-t);  y6(t) = x(2*t-2);  

figure(1); subplot(311); ezplot(x); grid on; axis([-2 4 0 2]);    

subplot(312); ezplot(y1); grid on; axis([-2 4 0 2]);    

subplot(313); ezplot(y2); grid on; axis([-2 4 0 2]); 

figure(2);  subplot(411); ezplot(y3); grid on; axis([-2 4 0 2]); 

subplot(412); ezplot(y4); grid on; axis([-2 4 0 2]); 

subplot(413); ezplot(y5); grid on; axis([-2 4 0 2]); 

subplot(414); ezplot(y6); grid on; axis([-2 4 0 2]);  
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1.8   
1.8.1   

  

           

  
.  

.  
  

1.8.2      
      ,  

   :  

   (1.17)  

      .     
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